- 4000

3500

3000

2500

2000

- 1500

= 1000

- 500

i T T
HO 4
5 N CH
\ = T it
(|)| (|,/ \Ic g D,O
HyCn % AN A oD 2
3 \N/ . \N/ 6 N7
H 7 | J ‘ OH
CH,
3-CH,
9H AY
| |
| |
| 1-CH,
| 9-CH, ‘
| |
| | ll
MecOH \
A . e o
_— —
4 I ¥ II g
| _JL A_JJ t‘l S R N—
: LT B I
EII 5 8‘.0 KI 5 r’l (8] 6I 5 SI.O -Jl 5 EJI.D 4‘ 5 4I o] Bl.b 3‘.0 ?.I.b ?I.O |I 5 1I [¥] OI.EJ OI.O (I] 5 ;
1 (ppm)

S11 Fig. *H-NMR of degrading products of methyltoxoflavin from TXE in D20. Insert shows peak assignments based on the

final structure and enlargement of the spectrum.



